
BY  W U N D E R L I C
H

M6x20

M6x16

M6x20

News, Shop, Downloads + Informationen:
www.wunderlich.de

Kataloganforderung + Downloads:
www.wunderlich.de/Katalog

Catalogue download (English):
www.wunderlich.de/en

General information, dealers and news:
www.wunderlich.de/en

Download catalogo (italiano):
www.wunderlich.de/en

Informazioni generali, dealer e Novità:
http://www.wunderlich.de/en

Télécharger les catalogues (francais):
www.wunderlich.de/en

Informations générales et distributeurs:
www.wunderlich.de/en

Descargar los catálogos (español):
www.wunderlich.de/en

Informaciones generales, tiendas y noticias:
www.wunderlich.de/en

Anbauanleitung     Fitting Instruction     Istruzione     Instructions     Instrucciones
Copyright by Wunderlich©

www.wunderlich.de

A B

1

RS-22-15-V2A

RIGHT SIDE =LEFT SIDE

R

Sturzbügelblech
BMW R 1200 GS/LC Adv. 
Bestellnummer 41871-xxx

Guards protections plate
BMW R 1200 GS/LC Adv.

Part Number 41871-xxx

Piastre Paraserbatoio
BMW R 1200 GS/LC Adv.

Codice 41871-xxx

Plaque de protection
BMW R 1200 GS/LC Adv.

Pièce 41871-xxx

Chapa para defensa
BMW R 1200 GS/LC Adv. 

Pieza 41871-xxx

RS-22-15-V2A

RS-20-15-V2A

RS-20-15-V2A

M6x16

rechte Seite/right side R



BY  W U N D E R L I C
H

D

C
RS-22-15-V2A

RS-20-15-V2A

Anbauanleitung     Fitting Instruction     Istruzione     Instructions     Instrucciones
Copyright by Wunderlich©

www.wunderlich.de 2

Anbautipp: Rohrschelle ohne Blech 
am Bügel verschrauben, somit ist 
die Schelle vorgeformt und erleich-
tert den weiteren Anbau!
Fitting tip: screw pipe clamps without 
plate on the bracket, so the bracket is 
pre-formed and facilitated the further 
mounting!

Schraubenlänge und Position so wählen, dass diese nicht am Zylinderkopf anliegt!
Select the screw length and position so that it does not touch the cylinder head!


